Almost Sure Convergence of Randomly Weighted Sums with Application to the Efron Bootstrap¹⁾

Tae-Sung Kim²⁾, Hyuk Joo Kim³⁾, Eun-Yang Seok⁴⁾

Abstract

Let $\{X_{nj}, 1 \le j \le n, j \ge 1\}$ be a triangular array of random variables which are neither independent nor identically distributed. The almost sure convergences of randomly weighted partial sums of the form $\sum_{j=1}^{n} W_{nj} X_{nj}$ are studied, where $\{W_{nj}, 1 \le j \le n, n \ge 1\}$ is a triangular array of random weights. Application regarding the Efron bootstrap is also introduced.

1. Introduction

Let $\{X_n \colon n \geq 1\}$ be a sequence of independent random variables and $\{w_{nj}, 1 \leq j \leq n, n \geq 1\}$ a triangular array of numbers. The almost sure convergence of the partial sums $\sum_{j=1}^n w_{nj} X_j$ were extensively investigated by Chow(1966), Stout(1968), Rohatgi(1971), Chow and Lai(1973), Adler and Rosalsky(1987), Yu(1990) and Cuzick(1995) among others. For a triangular array of random weights $\{W_{nj}, 1 \leq j \leq n, n \geq 1\}$ the almost sure convergence of the randomly weighted partial sums $\sum_{j=1}^n W_{nj} X_j$ was studied by Buldygin and Solntev(1986), Cuzick(1995), and Arenal-Gutiérrez, Matrán and Cuesta-Albertors(1996).

In this paper, for a triangular array $\{W_{nj}, 1 \le j \le n, n \ge 1\}$ of random weights and a triangular array $\{X_{nj}, 1 \le j \le n, n \ge 1\}$ of random variables which are neither independent nor identically distributed, the almost sure convergences of the randomly weighted partial sums of

¹⁾ The authors wish to acknowledge the financial support of the Korean Research Foundation made in the Program Years of 1997 and 1998.

²⁾ Professor Department of Statistics WonKwang University Iksan, Chonbuk 570-749 Korea

³⁾ Associate Professor Department of Statistics WonKwang University Iksan, Chonbuk 570-749 Korea

⁴⁾ Lecturer Department of Statistics WonKwang University Iksan, Chonbuk 570-749 Korea

the form $\sum_{j=1}^{n} W_{nj} X_{nj}$ are derived.

In section 2, conditions are imposed on the triangular array of random weights $\{W_{nj}, 1 \le j \le n, n \ge 1\}$ and on the triangular array of random variables $\{X_{nj}, 1 \le j \le n, n \ge 1\}$ which ensure the almost sure convergence of $\sum_{j=1}^{n} W_{nj} X_{nj}$. Applications regarding the Efron bootstrap are also discussed in section 3.

2. Results

Let $\{X_{nj}, 1 \le j \le n, n \ge 1\}$ be a triangular array of random variables which are neither independent nor identically distributed. In this section, we study the almost sure convergence of the form of $\sum_{j=1}^{n} W_{nj} X_{nj}$.

Theorem 2.1. Let $\{X_{nj}, 1 \le j \le n, n \ge 1\}$ be a triangular array of positive random variables such that

$$\lim_{n \to \infty} \frac{1}{n} \sum_{i=1}^{n} X_{ni} = B \quad a.s. \tag{2.1}$$

where B is a constant or an almost sure finite random variable, and le $\{W_{ni}, 1 \le j \le n, n \ge 1\}$ be a triangular array of random variables such that for all $\epsilon > 0$

$$P\left\{\lim_{n\to\infty}\sup\bigcup_{j=1}^{n}\left[\left|W_{nj}-\frac{1}{n}\right|\geq\frac{\varepsilon}{n}\right]\right\}=0. \tag{2.2}$$

Then $\sum_{j=1}^{n} W_{nj} X_{nj}$ converges almost surely to the almost sure limit of $\frac{1}{n} \sum_{j=1}^{n} X_{nj}$.

Proof. From (2.2) we obtain that for all $\varepsilon > 0$

$$P\left(\left\{ \left. \bigcup_{j=1}^{n} \left| W_{nj} - \frac{1}{n} \right| \ge \frac{\varepsilon}{n} \right\} \right. i.o. (n) \right) = 0$$
 (2.3)

and thus in view of (2.3), for arbitrary $\varepsilon > 0$, in a set of probability one there exists a positive integer n_0 such that for all $n \ge n_0$

$$\left| \sum_{j=1}^{n} W_{nj} X_{nj} - \frac{1}{n} \sum_{j=1}^{n} X_{nj} \right| \le \sum_{j=1}^{n} |W_{nj} - \frac{1}{n}| X_{nj} \le \frac{\varepsilon}{n} \sum_{j=1}^{n} X_{nj}$$
 (2.4)

which converges almost surely recalling (2.1). Since $\varepsilon > 0$ is arbitrary it follows that

$$\sum_{i=1}^{n} W_{nj} X_{nj} - \frac{1}{n} \sum_{i=1}^{n} X_{nj} \to 0 \ a. \ s.$$
 (2.5)

Thus the desired result follows.

Corollary 2.2. Let $\{X_{nj}, 1 \le j \le n, n \ge 1\}$ be a triangular array of positive random variables satisfying (2.1). Let $\{W_{nj}, 1 \le j \le n, n \ge 1\}$ be a triangular array of positive random variables such that for all $\varepsilon > 0$

$$\sum_{n=1}^{\infty} \sum_{j=1}^{n} P\{|W_{nj} - \frac{1}{n}| \ge \frac{\varepsilon}{n}\} \langle \infty . \tag{2.6}$$

Then $\sum_{j=1}^{n} W_{nj} X_{nj}$ converges almost surely to the almost sure limit of $\frac{1}{n} \sum_{j=1}^{n} X_{nj}$.

Proof. By the Borel-Cantelli lemma (2.6) implies (2.2). Thus the desired result follows by Theorem 2.1.

Lemma 2.3. Let $\{X_{nj}, 1 \le j \le n, n \ge 1\}$ be a triangular array of positive random variables and let $\{W_{nj}, 1 \le j \le n, n \ge 1\}$ be a triangular array of positive random variables such that for all $\varepsilon > 0$

$$P\Big(\lim_{n\to\infty}\sup\bigcup_{j=1}^{n}\{|W_{nj}-EW_{nj}|\geq\varepsilon EW_{nj}\}\Big)=0.$$
 (2.7)

If

$$\lim_{n \to \infty} \sum_{j=1}^{n} E(W_{nj}) X_{nj} = B \quad \text{a.s.}$$
 (2.8)

where B is a constant or an almost sure finite random variable then $\sum_{i=1}^{n} W_{nj} X_{nj}$ converges almost surely to the almost sure limit of $\sum_{i=1}^{n} E(W_{ni}) X_{ni}$.

Proof. In the proof of Theorem 2.1 by putting $EW_{nj} = \frac{1}{n}$ we obtain the desired result.

Theorem 2.4. Let $\{X_{nj}, 1 \le j \le n, n \ge 1\}$ be a triangular array of nonnegative random variables satisfying (2.1) and let $\{W_{nj}, 1 \le j \le n, n \ge 1\}$ be a triangular array of positive random variables satisfying (2.7). Assume

$$\lim_{n \to \infty} n(\min_{1 \le j \le n} EW_{nj}) = 1 \quad \text{and} \quad \lim_{n \to \infty} \{n(\max_{1 \le j \le n} EW_{nj})\} = 1.$$
 (2.9)

Then $\sum_{j=1}^{n} W_{nj} X_{nj}$ converges almost surely to the almost sure limit of $\frac{1}{n} \sum_{j=1}^{n} X_{nj}$.

Proof. It is enough to show that (2.8) holds: To see this, we observe the following inequality

$$n \left(\min_{1 \le j \le n} E W_{nj} \right) \frac{1}{n} \sum_{j=1}^{n} X_{nj} = \min_{1 \le j \le n} E \left(W_{nj} \right) \sum_{j=1}^{n} X_{nj}$$

$$\leq \sum_{j=1}^{n} E \left(W_{nj} \right) X_{nj}$$

$$\leq \max_{1 \le j \le n} E \left(W_{nj} \right) \sum_{j=1}^{n} X_{nj}$$

$$= n \left(\max_{1 \le j \le n} E \left(W_{nj} \right) \right) \frac{1}{n} \sum_{j=1}^{n} X_{nj}.$$
(2.10)

It follows from (2.1) and (2.9) that both sides of (2.10) converge almost surely to B, that is, (2.8) is obtained and the proof is complete by Lemma 2.3.

Theorem 2.5. Let $\{X_{nj}, 1 \le j \le n, n \ge 1\}$ be a triangular array of nonnegative random variables. Let $\{W_{nj}, 1 \le j \le n, n \ge 1\}$ be a triangular array of random variables satisfying (2.2). Assume that

$$\lim_{n \to \infty} \frac{1}{n} \sum_{j=1}^{n} (X_{nj} - EX_{nj}) = 0 \cdot a \cdot s. \tag{2.11}$$

and that there exists a positive finite constant A such that for all $n \ge 1$

$$\frac{1}{n} \sum_{j=1}^{n} EX_{nj} \langle A. \tag{2.12}$$

Then $\sum_{j=1}^{n} W_{nj} X_{nj}$ converges to the almost sure limit of $\frac{1}{n} \sum_{j=1}^{n} X_{nj}$. Moreover, $\sum_{j=1}^{n} W_{nj} X_{nj}$ converges to the almost sure limit of $\sum_{j=1}^{n} W_{nj} E(X_{nj})$.

Proof. It follows from (2.2) and (2.12) that for arbitrary $\varepsilon > 0$, in a set of probability one, there exists a positive integer n_0 such that for all $n \ge n_0$

$$\left| \sum_{j=1}^{n} W_{nj} X_{nj} - \frac{1}{n} \sum_{j=1}^{n} X_{nj} \right| \leq \sum_{j=1}^{n} \left| W_{nj} - \frac{1}{n} \right| X_{nj}$$

$$\leq \frac{\varepsilon}{n} \sum_{j=1}^{n} X_{nj}$$

$$\leq \frac{\varepsilon}{n} \sum_{j=1}^{n} (X_{nj} - EX_{nj}) + \varepsilon A. \tag{2.13}$$

which converges almost surely recalling (2.11). Since $\varepsilon > 0$ is arbitrary it follows that

$$\sum_{i=1}^{n} W_{ni} X_{nj} - \frac{1}{n} \sum_{i=1}^{n} X_{ni} \to 0 \quad a. \text{ s.}$$
 (2.14)

and the first result follows. It follows also from (2.2) and (2.12) that for arbitrary $\varepsilon > 0$, in a set of probability one, there exists a positive integer n_0 such that for all $n \ge n_0$

$$\left| \sum_{j=1}^{n} W_{nj} E(X_{nj}) - \frac{1}{n} \sum_{j=1}^{n} E(X_{nj}) \right| \leq \sum_{j=1}^{n} \left| W_{nj} - \frac{1}{n} \right| E(X_{nj})$$

$$\leq \frac{\varepsilon}{n} \sum_{j=1}^{n} E(X_{nj}) \langle \varepsilon A. \rangle$$
(2.15)

Since $\varepsilon > 0$ is arbitrary, it follows that

$$\sum_{i=1}^{n} W_{ni} E(X_{ni}) - \frac{1}{n} \sum_{j=1}^{n} E(X_{nj}) \to 0 \ a. \ s.$$
 (2.16)

Note that

$$\left| \sum_{j=1}^{n} W_{nj} X_{nj} - \sum_{j=1}^{n} W_{nj} E(X_{nj}) \right|$$

$$= \left| \sum_{j=1}^{n} W_{nj} X_{nj} - \frac{1}{n} \sum_{j=1}^{n} X_{nj} + \frac{1}{n} \sum_{j=1}^{n} X_{nj} - \frac{1}{n} \sum_{j=1}^{n} EX_{nj} + \frac{1}{n} \sum_{j=1}^{n} EX_{nj} - \sum_{j=1}^{n} W_{nj} E(X_{nj}) \right|$$

$$\leq \left| \sum_{j=1}^{n} W_{nj} X_{nj} - \frac{1}{n} \sum_{j=1}^{n} X_{nj} \right| + \left| \frac{1}{n} \sum_{j=1}^{n} (X_{nj} - EX_{nj}) \right| + \left| \sum_{j=1}^{n} W_{nj} E(X_{nj}) - \frac{1}{n} \sum_{j=1}^{n} EX_{nj} \right|.$$
(2.17)

By (2.14) the first term on the right-hand side of (2.17) converges to 0 a. s., the second term converges to 0 a. s. by (2.11), and the third term converges to 0 a. s. by (2.16) respectively. Thus the second desired result also follows.

Theorem 2.6. Let $\{X_{nj}, 1 \le j \le n, n \ge 1\}$ be a triangular array of nonnegative random variables such that

$$\lim_{n \to \infty} \frac{1}{n} \sum_{i=1}^{n} |X_{ni} - EX_{ni}| = 0 \text{ a.s.}$$
 (2.18)

and let $\{W_{nj}, 1 \le j \le n, n \ge 1\}$ be a triangular array of nonnegative integrable random

variables, such that

$$P\left(\lim_{n\to\infty}\sup\{\max_{1\leq j\leq n}|W_{nj}-EW_{nj}|\geq \frac{\varepsilon}{n}\}\right)=0.$$
 (2.19)

Assume that (2.9) and (2.12) hold. Then $\sum_{j=1}^{n} W_{nj} X_{nj}$ converges to the almost sure limit of $\sum_{j=1}^{n} W_{nj} E X_{nj}$.

Proof. First note that (2.18) implies (2.11). It follows from (2.12) and (2.19) that

$$\left| \sum_{j=1}^{n} W_{nj} X_{nj} - E(W_{nj}) X_{nj} \right| \leq \frac{\varepsilon}{n} \sum_{j=1}^{n} X_{nj}$$

$$\leq \frac{\varepsilon}{n} \sum_{j=1}^{n} (X_{nj} - EX_{nj}) + \varepsilon A$$

which converges almost surely by (2.11). Since $\epsilon > 0$ is arbitrary

$$\sum_{j=1}^{n} W_{nj} X_{nj} - E(W_{nj}) X_{nj} \to 0 \quad \text{a.s.}$$
 (2.20)

As in the proof of Theorem 2.5 we consider

$$\left| \sum_{j=1}^{n} W_{nj} X_{nj} - \sum_{j=1}^{n} W_{nj} E X_{nj} \right|$$

$$\leq \left| \sum_{j=1}^{n} W_{nj} X_{nj} - \sum_{j=1}^{n} E W_{nj} X_{nj} \right| + \left| \sum_{j=1}^{n} E W_{nj} X_{nj} - \sum_{j=1}^{n} E W_{nj} E X_{nj} \right|$$

$$+ \left| \sum_{j=1}^{n} W_{nj} E X_{nj} - \sum_{j=1}^{n} E W_{nj} E X_{nj} \right| . \tag{2.21}$$

One observes

$$\left| \sum_{j=1}^{n} E W_{nj} X_{nj} - \sum_{j=1}^{n} E W_{nj} E X_{nj} \right| = \left| \sum_{j=1}^{n} E W_{nj} (X_{nj} - E X_{nj}) \right| \le \max_{1 \le j \le n} E W_{nj} \sum_{j=1}^{n} |X_{nj} - E X_{nj}|$$

$$= \{ n (\max_{1 \le j \le n} E W_{nj}) \} \frac{1}{n} \sum_{j=1}^{n} |X_{nj} - E X_{nj}| \to 0 \ a.s.$$
(2.22)

by (2.9) and (2.18) and that

$$\left|\sum_{j=1}^{n} W_{nj} E X_{nj} - \sum_{j=1}^{n} E W_{nj} E X_{nj}\right| \leq \sum_{j=1}^{n} \left|W_{nj} - E W_{nj}\right| E X_{nj}$$

$$\leq \frac{\varepsilon}{n} \sum_{j=1}^{n} E X_{nj} \qquad \text{(by 2.19)}$$

$$\langle \varepsilon A \to 0 \text{ a.s.} \qquad \text{(by 2.12)}$$

Thus it follows from (2.20), (2.22) and (2.23) that the right hand-side of (2.21) converges to 0 a.s. and the desired result follows

Theorem 2.7. Let $\{X_{nj}, 1 \le j \le n, n \ge 1\}$ be a triangular array of positive random variables and $\{W_{nj}: 1 \le j \le n, n \ge 1\}$ be a triangular array of integrable random variables. Assume that there exists a triangular array of positive constants $\{a_{nj}: 1 \le j \le n, n \ge 1\}$ such that

$$\lim_{n \to \infty} \sum_{j=1}^{n} a_{nj} X_{nj} = B \ a.s.$$
 (2.24)

where B is a constant or an almost sure finite random variable, and for all $\epsilon > 0$

$$P\left\{\lim_{n\to\infty}\sup\bigcup_{j=1}^{n}\left[\left|W_{nj}-\frac{1}{n}\right|\geq\varepsilon\ a_{nj}\right]\right\}=0. \tag{2.25}$$

and there exists a positive constant C such that

$$\sum_{j=1}^{n} a_{nj} E X_{nj} \langle C$$
 (2.26)

for all $n \ge 1$ and $1 \le j \le n$. If (2.11) and (2.12) hold then $\sum_{j=1}^{n} W_{nj} X_{nj}$ converges almost surely to the almost sure limit of $\sum_{j=1}^{n} W_{nj} EX_{nj}$.

Proof. It follows from (2.25) that for all $\epsilon > 0$

$$P\left\{\lim_{n\to\infty}\sup\left[\max_{1\leq j\leq n}\left|W_{nj}-\frac{1}{n}\right|\geq\varepsilon\,a_{nj}\right]\right\}=0\tag{2.27}$$

and thus in view of (2.27) for arbitrary $\epsilon > 0$, in a set of probability one there exists a positive integer n_0 such that for all $n \ge n_0$

$$\left| \sum_{i=1}^{n} W_{nj} X_{nj} - \frac{1}{n} \sum_{i=1}^{n} X_{nj} \right| \le \varepsilon \sum_{j=1}^{n} a_{nj} X_{nj}$$
 (2.28)

which converges almost surely recalling (2.24). Since $\varepsilon > 0$ is arbitrary, it follows that

$$\sum_{i=1}^{n} W_{ni} X_{ni} - \frac{1}{n} \sum_{i=1}^{n} X_{ni} \to 0 \quad a.s.$$
 (2.29)

Finally, as in the proof of Theorem 2.6 we consider the following inequality.

$$\left| \sum_{j=1}^{n} W_{nj} X_{nj} - \sum_{j=1}^{n} W_{nj} E X_{nj} \right|$$

$$\leq \left| \sum_{j=1}^{n} W_{nj} X_{nj} - \frac{1}{n} \sum_{j=1}^{n} X_{nj} \right| + \left| \frac{1}{n} \sum_{j=1}^{n} X_{nj} - \frac{1}{n} \sum_{j=1}^{n} E X_{nj} \right| + \left| \sum_{j=1}^{n} W_{nj} E X_{nj} - \frac{1}{n} \sum_{j=1}^{n} E X_{nj} \right|$$
(2.30)

The first term on the right-hand sider of (2.30) converges to 0 a.s. by (2.29), the second term converges to 0 a.s. by (2.11). Now it remains to show that the third term converges almost surely to zero. Note that

$$\left| \sum_{j=1}^{n} W_{nj} E X_{nj} - \frac{1}{n} \sum_{j=1}^{n} E X_{nj} \right| \leq \sum_{j=1}^{n} \left| W_{nj} - \frac{1}{n} \right| E X_{nj}$$

$$\leq \varepsilon \sum_{j=1}^{n} a_{nj} E X_{nj} \to 0 \quad \text{a. s.} \quad \text{(by 2.26)}$$

since $\varepsilon > 0$ is arbitrary. Thus the desired result follows.

Theorem 2.8. Let $\{X_{nj}, n \ge 1\}$ be a triangular array of positive random variables and

 $\{W_{nj}, 1 \le j \le n, n \ge 1\}$ be a triangular array of integrable random variables. There exists a triangular array of positive constants $\{a_{nj}, 1 \le j \le n, n \ge 1\}$ satisfying (2.24), (2.26) and for all $\epsilon > 0$

$$P\Big\{\lim_{n\to\infty}\sup\bigcup_{j=1}^{n}\left[|W_{nj}-EW_{nj}|\geq\varepsilon\ a_{nj}\right]\Big\}=0. \tag{2.31}$$

Assume that

$$\lim_{n \to \infty} \sum_{j=1}^{n} E W_{nj} (X_{nj} - E X_{nj}) = 0 \quad a. s.$$
 (2.32)

Then $\sum_{j=1}^{n} W_{nj} X_{nj}$ converges almost surely to the almost sure limit of $\sum_{j=1}^{n} W_{nj} E X_{nj}$.

Proof. It follows frow (2.31) that

$$\left| \sum_{j=1}^{n} W_{nj} X_{nj} - \sum_{j=1}^{n} W_{nj} E X_{nj} \right|$$

$$\leq \left| \sum_{j=1}^{n} W_{nj} X_{nj} - \sum_{j=1}^{n} E W_{nj} X_{nj} \right| + \left| \sum_{j=1}^{n} E W_{nj} X_{nj} - \sum_{j=1}^{n} E W_{nj} E X_{nj} \right| + \left| \sum_{j=1}^{n} W_{nj} E X_{nj} - \sum_{j=1}^{n} E W_{nj} E X_{nj} \right|$$

$$\leq \varepsilon \sum_{j=1}^{n} a_{nj} X_{nj} + \left| \sum_{j=1}^{n} E W_{nj} (X_{nj} - E X_{nj}) \right| + \varepsilon \sum_{j=1}^{n} a_{nj} E X_{nj}.$$

$$(2.33)$$

The first term on the fight-hand side of (2.33) converges to 0 a.s. by (2.24), the second term converges to 0 a.s. by (2.32) and the third term converges to 0 a.s. by (2.26). Hence the desired result follows.

3. Application

Finally, we introduce the strong law of large number for the bootstrap mean and show the bootstrap strong law of large numbers by applying Theorem 2.5 (see Theorem 3.2). The ordinary Efron bootstrap sample Y_{n1} , Y_{n2} , \cdots , $Y_{nm(n)}$ of size m(n) picks randomly, with replacement, m(n) elements from the set $\{X_1, \dots, X_n\}$. Therefore, if $\{Z_{ni}\}$ $n \ge 1$, $1 \le i \le m(n)$ is a triangular array of random variables, with Z_{ni} uniformly distributed on $\{1, 2, \dots, n\}$ and Z_{n1} , Z_{n2} , \cdots , $Z_{nm(n)}$ independent for every $n = 1, 2, \cdots$, the bootstrap variables can be represented as $Y_{ni} = X_{Z_{ni}}$. Now, introducing the weights

$$W_{nj} = \frac{1}{m(n)} \sum_{i=1}^{m(n)} I_{(Z_{ni}=j)}, \quad j=1, 2, \dots, n,$$

the bootstrap sample mean, $\overline{X_n^*}$, is

$$\overline{X_{n}^{*}} = \frac{1}{m(n)} \sum_{i=1}^{m(n)} Y_{ni}
= \frac{1}{m(n)} \sum_{i=1}^{m(n)} X_{Z_{ni}}
= \sum_{j=1}^{n} \frac{1}{m(n)} \sum_{i=1}^{m(n)} X_{j} I_{(Z_{ni} = j)}
= \sum_{j=1}^{n} \left(\frac{1}{m(n)} \sum_{i=1}^{m(n)} I_{(Z_{ni} = j)} \right) X_{j}
= \sum_{j=1}^{n} W_{nj} X_{j}$$

when using respectively Athreya's (1983) and Csörgö's (1992) notation.

Note that the random vectors $\{m(n)\,(W_{n1},\,W_{n2},\,\cdots,\,W_{nn})'\,\}_{n=1}^{\infty}$ have a multinomial distribution with parameters $(m(n), \frac{1}{n}, \frac{1}{n}, \cdots, \frac{1}{n})$ and also that the whole sequence is independent of the sequence $\{X_n, n \ge 1\}$. In the sequal, we say that the bootstrap strong law of large numbers holds if

$$\lim_{n\to\infty} \overline{X_n^*} = EX_1 \quad a.s.$$

in the identically distributed case, or in general if

$$\lim_{n \to \infty} \left(\overline{X_n^*} - \sum_{j=1}^n W_{nj} E X_j \right) = \lim_{n \to \infty} \left(\sum_{j=1}^n W_{nj} X_j - \sum_{j=1}^n W_{nj} E X_j \right)$$

$$= \lim_{n \to \infty} \left(\sum_{j=1}^n W_{nj} (X_j - E X_j) \right) = 0 \quad a.s. \quad (see [2])$$
(3.1)

The following result was proved by Arenal-Gutiérres, Matrán and Cuesta-Albertos(1996).

Lemma 3.1. (Arenal-Gutiérres, etal., 1996) If

$$\lim_{n \to \infty} n \log n / m(n) = 0 \tag{3.2}$$

then

$$P\left(\lim_{n\to\infty}\left\{\max_{1\leq j\leq n}\left|W_{nj}-\frac{1}{n}\right|\geq \frac{\varepsilon}{n}\right\}\right)=0.$$

From Theorem 2.5 and Lemma 3.1 we have :

Theorem 3.2. Let $\{X_n, n \ge 1\}$ be a sequence of nonnegative random variables and let $\{W_{nj}, 1 \le j \le n, n \ge 1\}$ be a triangular array of random variables. Assume

$$\lim_{n \to \infty} \frac{1}{n} \sum_{j=1}^{n} (X_{j} - EX_{j}) = 0 \quad a. s.$$

and there exists a positive finite constant A such that for all $n \ge 1$

$$\frac{1}{n} \sum_{j=1}^{n} X_j \langle A.$$

If (3.2) is satisfied then the bootstrap strong law of large number holds, that is, (3.1) holds.

References

- [1] Adler, A. and Rosalsky, A. (1987), On the strong law of large numbers for normed weighted sums of i.i.d. random variables, *Stochastic Analysis and Application*. Vol. 5, 467-483
- [2] Arenal-Gutiérrez, E., Matrán, C., and Cuesta-Albertos, J. A. (1996), On the unconditional strong law of large numbers for the bootstrap mean, *Statistics and Probability Letters*. Vol. 27, 49-60
- [3] Athreya, K. B. (1983), Strong law for the bootstrap. *Statistics and Probability Letters*. Vol. 1, 147–150
- [4] Buldygin, V. V. and Solntsev, S. A. (1986), The contraction principle and the strong law of large numbers for weighted sums, *Theory of Probability and Its Applications*. Vol. 31, 452-462
- [5] Chow, Y. S. (1966), Some convergence theorems for independent random variables, *Annals of Mathematical Statistics*. Vol. 37, 1482-1493
- [6] Chow, Y. S. and Lai, T. L. (1973), Limiting behavior of weighted sums of independent random variables, *Annals of Probability*. Vol. 1, 810-824
- [7] Csörgö, S. (1992), On the law of large numbers for the bootstrap mean. *Statistics and Probability Letters*. Vol. 19, 1–7
- [8] Cuzick. J. (1995), A strong law for weighted sums of random variables, *Journal of Theoretical Probability*. Vol. 8, 625-641
- [9] Etemadi, N. (1981), An elementary proof of the strong law of large numbers, Zeitschrift für Wahrsch einlichkeitstheorie und verwante Gebiete. Vol. 55, 119-122
- [10] Rohatgi, V. K. (1971), Convergence of weighted sums of independent random variables, Proceedings of Camridge Philosophy Society. Vol. 69, 305-307
- [11] Stout, W. F. (1968), Some results of the complete and almost sure convergence of linear combinations of independent random variables and martingale differences, *Annals of Mathematical Statistics*. Vol. 39, 1549–1562
- [12] Yu. K. F. (1990) On the uniform integrability and almost sure convergence of weighted sums. *Journal of Japan Statistics Society*. Vol. 20, 69-75